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Ol3Edd A 9,000 17,080 /8,080
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04 QIS ALR X 2 10,000 0 10,000
O g4 &2 823 10,000,000& 10,000
SUS0l HAEYE ASEA 20,000 0 20,000
307 QI2t0| ™ 20,000 0 20,000
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O daHs =7 A4 50,000,000 50,000
frHs8s X3 94,350 94,350 0
301 et a s 94,350 94,350 0
Vo=t - 2SRES243 94,350 94,350 0
O 2+Hdsd+ 54¢ 94,350
- =20 500,000& = 5 = 12& 30,000
- EdxY 200,000& = 5% = 123 12,000
— g2 200,000& = 5 « 12& 12,000
— d0= 500,000& = 5% = 600% 15,000
— ZAJNE 50,000& = 5 « 12& 3,000
- 254 450,000& * 5 « 23| 4,500
- EY 30,000& = 10& = 12% 3,600
— JHE=xXZ 200,000& = 5 = 12& 12,000
- SE=FJY| 225,000& = 5H « 23| 2,250
HMsEA K& 429,400 791,400 362,000
307 21201 A 429,400 791,400 A 362,000
02 B AEXS 404,400 50,400 354,000
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fAH: S2st22 1
g s
=& st fEH)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o e 2
O A=s @ MEH=E Me=g 20l
850,000& = 2% = 123 20,400
O H=sz & daHss 29
15,000,000 = 200 £ 30,000
O deds gd3 X 20,000,000& 20,000
O LoHolEsWsl &It 4,000,000& * 13 4,000
O =38 NEZ dZdial &t
8,000,000& 8,000
O HMoes Mt MEMsSU &t
65,000,000 * 13l 65,000
O H533 dMetdg=dM=soal &0t
140,000, 000& 140,000
O d= OtetEWs &It 9,000,000& * 13l 9,000
O &d3A4UME el s FIHXA
4,000,000& * 13l 4,000
O &d3HE Rz sS4 XA
5,000,000& * 13l 5,000
O H2MUEX L MIMSHSU &
3,000,000& = 13l 3,000
O HMosl HMetd: HEAMMEMSUSE ZIt
8,000,000& * 13l 8,000
O M=3Zu M=tz Ha X
25,000, 000& 25,000
O ZXAD &S558 dedsia Sot3dl
50,000,000& = 13l 50,000
O HM243 MIMI| d2Hs &=FFU=2l ot
3,000,000& = 13l 3,000
O 2014 Mt SEUE 449 HEHsSH
3 FIt 3,000,000& = 13l 3,000
O 2014 golietd Al =20 &t
5,000,000& * 13l 5,000
O M7=l s sAetlts =2 &It
2,000,000& = 13 2,000
04 BIZtHAIE RS 25,000 741,000 AT716,000
O ZEZ==H M=U2 HEXS
25,000,000 25,000
MEHS XX HIXI(D]12) 194,304 186,240 8,064
J| 97,152
e 97,152
307 21201 A 194,304 186,240 8,064
J| 97,152
e 97,152
02 2P AEXS 194,304 186,240 8,064
O MEHSXX BHX 194,304,000& 1 194,304
J| 97,152
s 97,152
AXX A 0lEA AMEAMA(IIZ) 24,960 23,000 1,960
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2AMd: 2322
Hu: HENE
@2 Msds2 (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
| 17,472
= 2,246
e 5,242
307 21201 A 24,960 23,000 1,960
| 17,472
< 2,246
= 5,242
02 QIAHFAEXS 24,960 23,000 1,960
O MSH2H AlEA 24.,960,000& 24,960
| 17,472
< 2,246
= 5,242
HOIESE =AY 340,000 180,000 160,000
401 AIEHIZ 28I 340,000 180,000 160,000
01 A& Hl 340,000 180,000 160,000
O HOIEEE AN&E B4 (EIMHANESE
g) 5,000,000& = 204 A& 10,000
O dEZE AOE=ZE =4
150,000,000 * 20 & 300,000
O 23 8= AHOIESE AX&O A
30,000,000& » 1& 30,000
S0 HH 22 29 662,228 622,087 40,141
101 1A dl 258,172 169,571 88,601
M4 JI2ZHZEXNSES 258,172 169,571 88,601
O ZUMSHE 2 (ZAHLSERA)ZS0 102,004
- =20 60,000& = 3% » 260 46,800
- =¥ 60,0003 = 3% » 52 9,360
- &0z 60,0003 *3H *212 »25%* 1204 & 11,340
- ¢9x==g 60,0003 = 3% = 20 3,600
— A2teIg 6,968% *3H *80Al 2tx12& 20,068
- 5224 60,0003 «3H 352 6,300
— ZESFIH 60,0003 *3H 212 «60%*23| 4,536
O B /AJelZTd 2A229Y9 86,530
- 20(F2)
40,1203 » 3% * 302 * 1201 & 43,330
— S0 (0k2H)
60,000 » 2% = 302 = 1201 & 43,200
O FUMSHAH 2 (¢HUAT , EA)=0 69,638
- =0 40,1203 *3Y x260 31,294
- &3 40,1203 «3H «52 6,259
- =5 40,1203 *3H x52 6,259
- 9x==g 40,1203 «3H 15 1,806
— AZ2HI=Y 4 65933 «100AI 2H+1200 B 16,773
- Re2R=E 40,1203 +3H 35 4,213
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2N 222

HH: RS
@2 Msds2 (9 ® =)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
O £=9gZ&, 2AaY gla2e T2)dH RAES
CH &t dl 170,000 = 124 & 2,040
206 M = Hl 15,240 8,110 7,130
01 X2 H| 15,240 8,110 7,130
O +9xy +z3228 &4 Y 700,000 700
O £=g& e el 700,000 700
O ®MJI¥E L )| 7Y 1,000,000 1,000
O +=9& 2X)| 24 22 60,0002 *x25%43| 480
O 423 2y 91478 243 7Y
300,000 300
O 4% BB HLAE 29
350,000& » 14 4,900
O +9= +apes 23H 72
30,000& * 65 » 1204 & 2,160
O BEAY 29 ARE (2, &AH, HE)
5,000,000& 5,000
405 XHo&HF S HI 11,000 13,000 A 2,000
01 XA 2 FF S| 11,000 13,000 A 2,000
O 493 gz 2 7Y
11,000,000 ~1CH 11,000
Hog HY A M20IetEMH3 50,000 0 50,000
307 212t0| & 50,000 0 50,000
04 QIZtSH AL X 2 50,000 0 50,000
O H9gl Y&l = MdA20IAEWUS A
50,000,000& * 1 50,000
014 HEHE =5 NI & =203 H=A 50,000 0 50,000
307 QI2t0| & 50,000 0 50,000
04 A2tHAIE X = 50,000 0 50,000
O 2014 sH=ZdEE =3 Hs3&H 532U 3
50,000,000& * 1 50,000
2 d=2HIOREAIUE & =X 50,000 0 50,000
307 gizto| A 50,000 0 50,000
04 QI2tHAIE X = 50,000 0 50,000
O 2t 8=HORAUE £ dHASH
50,000,000& * 13| 50,000
H103 =2 MESHsc2AHES &I U3 5,000 0 5,000
307 2iz2to| A 5,000 0 5,000
04 QIZ2tSHALE X 2 5,000 0 5,000
O H10g8 HEZ MEHNSSRASIEHI U
5,000,000& = 13l 5,000
HB83l H=24H| HILAWMS 8,000 0 8,000
307 2iz2to| A 8,000 0 8,000
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2N 222

HH: RS
@2 Msds2 (9 ® =)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
04 Q2tHAIE X = 8,000 0 8,000
O H83l &==24b8f HLUATS 8,000,000 8,000
H21g8 ns&I| L M2z S3HI| NEWHS 3,000 0 3,000
307 QI2t0| & 3,000 0 3,000
04 Q2 AIE X = 3,000 0 3,000
O H213 n=&J| L M223 83 &EI| NEU
3| 3,000,000 = 13 3,000
2014 B & 2Z2Hel WMEUS3 5,000 0 5,000
307 QI2t0| & 5,000 0 5,000
04 QI2tHAIE X = 5,000 0 5,000
O 2014 B3& 2ZHel NEWE
5,000,000& * 13| 5,000
Hi11a &I & H183 S 3 &Hf EBHE =3 3,000 0 3,000
307 2izto| & 3,000 0 3,000
04 QIZ2tSHALE X 2 3,000 0 3,000
O M1z ns&I| ¥ H18s I &U BHAE
CHal 3,000,000& = 13 3,000
H6al HE=ZLH s =203 9,000 0 9,000
307 2iz2to| & 9,000 0 9,000
04 QIZ2tSHALE X 2 9,000 0 9,000
O Hesl =2 s 32U 3
9,000,000& 9,000
K53 H=JCEHH HOIE=SUS 9,000 0 9,000
307 2Iz2t0| & 9,000 0 9,000
04 QIZISH AL X 2 9,000 0 9,000
O Hibal &= JC S &EH HOIEEUE
9,000,000 9,000
K408 &=E 2 Al SHH =03 10,000 0 10,000
307 QI2t0| ™ 10,000 0 10,000
04 Q2HAIE X = 10,000 0 10,000
O Hl403 &AL A SH =203
10,000,000&¢ * 13| 10,000
M473] ZE2UP2E S 26 B2 10,000 0 10,000
307 QI2t0| & 10,000 0 10,000
04 QI2tHAIE X = 10,000 0 10,000
O H473 H=ZHi2E 3 &0l 20 a
10,000,000&¢ * 13| 10,000
H3g HYANEEZHH MEZ2F= MENE &720U 3 15,000 0 15,000
307 gizto| A 15,000 0 15,000
04 QIZ2tSHALE X 2 15,000 0 15,000
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2N 222

HH: YRS
=& st (&)
= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
O Z9z Z2 2401 d=E23% HEAR &7
tHal 5,000,000& = 13l 15,000
AT E dEgZF MENS HEQLEHS 10,000 10,000
307 glz2+ol & 10,000 10,000
04 RIZIHAIE RS 10,000 10,000
O Fgdzds dgd MEMS BHEQLEWHS
10,000, 000& 10,000
e AU HOESUS 5,000 5,000
307 gl2tol & 5,000 5,000
04 RIZHHAIE RS 5,000 5,000
O sz H&aEH HOESUSE
5,000,000& = 13l 5,000
2014 M= S0te 3 30,000 30,000
307 21201 A 30,000 30,000
04 QIZIHALE X S 30,000 30,000
O 2014 M&x=s 8ot tal
30,000,000& * 12/ 30,000
M5z Y& 2435 HsUE 5,000 5,000
307 21201 A 5,000 5,000
04 QIZHHAIB XS 5,000 5,000
O HMb3 g8 245 MsUal KA
5,000,000& * 13l 5,000
ZOHQ MESHEA X2 62,200 62,200
307 glz2tol & 62,200 62,200
02 QItFAEXZ 62,200 62,200
O Zed=3s 24l 15,000,000& * 12/ 15,000
O ZHeH=3 AR 2l
850,000& = 1242 10,200
O ¥eld=ss 25+ 15,000,000& * 13 15,000
O HM223 Metds HOoHMsa &t
15,000,000& * 13l 15,000
O &= NMEHAMSU &It
3,000,000& * 13l 3,000
O &3 EXNootetEUS &It
2,000,000& * 13l 2,000
O &= sotgH=sUa &It
2,000,000& * 13l 2,000
Hezs Metde HOHIM=UE A (<Hl) 450,000 450,000
S 70,000
s 380,000
307 glz2tol & 450,000 450,000
< 70,000
s 380,000
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EX: S22
HH: RS
t¢el: Msdsal (cho &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
04 Q2tHAIE X = 450,000 0 450,000
O H223 dMetgs HOMAMESUIE M=
450,000,000 450,000
& 70,000
o 380,000
M223 dMetdgd e Hoed=suUa X 50,000 0 50,000
201 LBt | 5,000 0 5,000
01 AP 22| d| 5,000 0 5,000
O H223 Metd= HMsUa =8I &
ANES2Y 5,000,000 5,000
202 04| 5,000 0 5,000
01 2L I 5,000 0 5,000
O HM223 dMetgTs HMAMEsUs =& & c
o4 1l 50,0003 x4 25 5,000
401 AIEHIZL 2 0HY| 40,000 0 40,000
01 Al&H| 40,000 0 40,000
O HM223 &etgT HMMSESUS Al
40,000, 000& 40,000
H6sl AR Hxgel=S03 10,000 0 10,000
307 212t0| & 10,000 0 10,000
04 QIZISHALE X2 10,000 0 10,000
O Hesl BY& dHxgel 23l
10,000,000& = 13 10,000
HdEGEIIHI HEUH3 30,000 0 30,000
307 QI2t0| ™ 30,000 0 30,000
04 QIZtSH AL X 2 30,000 0 30,000
O dEEIEI HMEU3 30,000,000& 30,000
es dsia 5,000 0 5,000
307 2Iz2t0| A 5,000 0 5,000
04 SIZ2IHAIE X2 5,000 0 5,000
O HEs M=tz = 5,000,000& * 13| 5,000
SI&H =03 5,000 0 5,000
307 2izto| A 5,000 0 5,000
04 CIZ2ISHALE X2 5,000 0 5,000
O 3&H Msal M= 5,000,000& * 13| 5,000
Heloldsna 29 4,000 0 4,000
307 QI2t0| & 4,000 0 4,000
04 QI2tHAIE X = 4,000 0 4,000
O eloldMsrnae 24 4,000,000& = 13 4,000
HAa4dE Hewas 89 4,000 0 4,000




EX: S22
HH: RS
e MsiE2 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2izto| A 4,000 0 4,000
04 QIZ2tSHALE X 2 4,000 0 4,000
O #34H HMguna 29 4,000,000& * 13| 4,000
HEMEM=s 22X 2,000 0 2,000
307 QI2t0| ™ 2,000 0 2,000
04 A2tHAIE X = 2,000 0 2,000
O HdMexs 24 2,000,000& = 13| 2,000
U 29 4,000 0 4,000
307 212t0| & 4,000 0 4,000
04 QIZISH AL X 2 4,000 0 4,000
O &d+dsds 29 4,000,000& = 13l 4,000
MY snas 24 8,500 0 8,500
307 2Iz2tol & 8,500 0 8,500
04 QIZ2tSHALE X 2 8,500 0 8,500
O MEdsLns 89 8,500,000& = 13l 8,500
M3z HESH2H BHEClE 3 15,000 0 15,000
307 giztol A 15,000 0 15,000
04 QI2tHAIE X = 15,000 0 15,000
O H33 &=st22tf BHECIE 3
15,000,000& = 13l 15,000
2322l 4,258,490 5,705,537 N 1,447,047
= 701,100
& 540,965
= 3,016,425
HERS B& ¥ M5 4,258,490 5,705,537 N 1,447,047
= 701,100
& 540,965
= 3,016,425
23 2= 22 59,700 40,300 19,400
101 Q124 H| 7,000 7,800 A 800
04 JI2ZtHIZ2 2 NEES 7,000 7,800 A 800
O 23/ =8 &xHAH 2 7,000,000 7,000
201 2Et24A Y| 2,700 2,500 200
02 B32%H| 2,700 2,500 200
O SFMTEH A BZ223 500,000 500
O 23M=H S&EA A8 KA
1,000,000& 1,000
O 23 MI|&H HNMEAH 2227
50,000& #2404 2~ 1,200
402 SI2vXHE0| ™ 50,000 0 50,000
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EX: S22
Mz S22
ool MSS5 BE L MBS CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 Q1228 X 50,000 0 50,000
O EA&A S FHAEH A Y 50,000,000 50,000
HXE2SM 2% 120,000 120,000 0
401 Al HI L £ 0HHI 20,000 20,000 0
01 Al& H| 20,000 20,000 0
O HXNE S3tl B 20,000,000 20,000
402 IV X201 M 100,000 100,000 0
01 QX2 X 100,000 100,000 0
O HXNE23M B4 100,000,000 100,000
2 XNE2SHE S (2H]) 1,003,000 1,317,646 AN 314,646
= 701,100
& 90,570
= 211,330
401 AlEHIZL 2 0HY| 156,925 1,067,646 A 910,721
= 108,847
& 14,423
= 33,655
01 Al& H| 149,500 1,060,919 A911,419
O ZINE23M B Al&Hl  149,500,000& 149,500
= 104,650
== 13,455
= 31,395
02 2teld| 6,323 0 6,323
O ZIINAE2sHM B4 22| 6,323,000 6,323
= 3,426
& 868
- 2,029
03 Al 20| 1,102 6,727 AN5,625
O ZINE23M B AIE&2UH]
153,000,000 *0.0072 1,102
= 771
= 100
= 231
402 SI2F 20| & 846,075 250,000 596,075
= 592,253
& 76,147
o 177,675
01 QI2tXE8 X 846,075 250,000 596,075
O Z2INE23M B 846,075,000& 846,075
= 592,253
= 76,147
= 177,675
CXE 235 E4(%H|) 600,000 543,000 57,000
o=t 420,000
= 180,000
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fAH: S2st22 1
M Ze2el
Sl NESH BE U MBS (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 A& HIZ 201 I 400,000 203,000 197,000
< 280,000
e 120,000
01 A& HI 397,120 201,538 195,582
O EXNZE2M E=AMY A&
397,120,000& 397,120
< 277,984
e 119,136
03 A& S THHI 2,880 1,462 1,418
O EXNE=2M ExAE AIZ20HI
400,000,000& *0.0072 2,880
< 2,016
e 864
402 RIZEX20l A 200,000 340,000 A 140,000
< 140,000
s 60,000
01 RIZEAt2E X 200,000 340,000 A 140,000
O EXNE2M ExAtS 200,000, 000& 200,000
< 140,000
[ia 60,000
S sUHAGMNY (ZS) 2,140,000 3,532,267 A 1,392,267
401 AIEHI L 20 2,140,000 3,532,267 A 1,392,267
01 A& tl 2,140,000 3,532,267 A 1,392,267
O ssts0dgd dAs5tAY 2,140,000,000& 2,140,000
SEZsRL &2 25,000 10,000 15,000
401 Al HI K 201 I 25,000 10,000 15,000
01 A& HI 25,000 10,000 15,000
O EERSIRM(ZXNEY) B 25,000, 000& 25,000
CSXNE23 I AAIZ2IAF (S 8I) 10,000 14,000 24,000
< 5,000
e 5,000
101 1244 dl 10,000 14,000 A 4,000
< 5,000
s 5,000
04 JI2ZHHZ2XREES 10,000 14,000 24,000
O EXNE=23M aAl2el el
2,000,000 *54 & 10,000
< 5,000
e 5,000
SXNE2SM =01 AT AP (& HI) 10,790 10,790 0
= 5,395
s 5,395
401 Al HIZ 201 I 10,790 10,790 0
S 5,395
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fAH: S2st22 1
M Ze2el
Sl NESH BE U MBS (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 5,395
01 A& HI 10,790 10,790 0
O EXNEEZM =101 2D At
10,790,000 =10 A 10,790
< 5,395
[ia 5,395
s =M JIgAlE FEl 50,000 0 50,000
401 Al HIZ 201 8] 50,000 0 50,000
01 A& HI 50,000 0 50,000
O Zsguw =94 J|IBtAIE HH|l 50,000,000& 50,000
ZOtAE2UL HIANZZSM 2= 200,000 0 200,000
401 AIEHI L 20 200,000 0 200,000
01 A& HI 200,000 0 200,000
O ZotAE2U HIXNE23M B4
200,000,000 200,000
HdS23R4 B FHIAS 40,000 0 40,000
< 20,000
[ia 20,000
402 RIZ2EXt201 ™ 40,000 0 40,000
< 20,000
i 20,000
01 RIZEAt 22X 40,000 0 40,000
O ds2atze B 40,000,000 40,000
< 20,000
s 20,000
Hees (2221 78,890 60,000 18,890
HEHH K= 60,000 60,000 0
UWEAHAHXS(MSIEIISHES) 60,000 60,000 0
702 JISHES 60,000 60,000 0
(PIE=RSE—= 60,000 60,000 0
O ZEZM=EEEI=S HdES 60,000, 000& 60,000
SHENE 18,890 0 18,890
SHEXE(LHZIIE) 18,890 0 18,890
802 Btet = DI Et 18,890 0 18,890
02 Al - EHIEXZEtE = 18,890 0 18,890
O 2011 SXNE2MHE =AY 18,889,650 18,890
HE2HZH (222 0t) 306,310 237,632 68,678
ol 2 gl 182,076 113,198 68,878
QAR HH|/ 203 2 64,405 46,571 17,834
101 @124l 64,405 46,571 17,834
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